METOP C Period : 202504
clear/land AMSU-B 1 1000 hPa
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METOP C Period : 202504
clear/land AMSU-B 2 1000 hPa
6 poooe IR R IR P poooe R R IR P poooe IR R [ P P R R (R P P R R -1 30000
I T T T O T A N T VO O T T N s e
-1 25000
4 ..................................................................................................................................
-1 20000
3 ..................................................................................................................................
~
N4
~ 2----8----8---#----®B--B---®B---®B -8 B®‘B BK §®& 8@ ¥ 8 B B B @ B B B 8B 8 - 15000
=
=
1 ..................................................................................................................................
-1 10000
0
-1 5000
18- - B B - -B B - B B s-"3  B B B N BT . . N . . .= N .. N .
_24 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 280

Scan position angles classes

= bias obs-guess = std obs-guess [ nbobs [ nbrejects [l nb gross errors

Observations



METOP C Period : 202504
clear/land AMSU-B 3 350 hPa
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METOP C

Period : 202504

clear/land AMSU-B 4 500 hPa
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Tbh (K)

METOP C

Period : 202504

clear/land AMSU-B 5 700 hPa
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